PRACTICE 6B

Find the value of each of the following:

o

10.

g Lot ba =

(a) (b) (c)

3 %1 2 x3 3 x4
6 X3 7 X3 3x8
4 x 3 5x 3 3x 10
3x7 9% 3 3 X3
8 X 3 10 x 3 3 X6

There are 3 wheels on a tricycle.
How many wheels are there on 4 tricycles!?

. There are 7 trees in one row.

How many trees are there in 3 rows!

One bag of potatoes weighs 8 kg.
What is the weight of 3 bags of potatoes?

Mary made 6 dresses.
She used 3 yd of cloth for each dress.
How many yards of cloth did she use altogether?

Matthew bought 3 sets of stamps.
There were 10 stamps in each set.
How many stamps did he buy?
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